Arafaed RTer (&7 99) BT ASTRAAT AT

faRTEepuT arferept

(THAT JIATTEH)
Specification Grid

(Including sample quesstions)

099 ITAHI 8T YRIEATNE AN g

GEEIENCECIN
fre, fastme qen wlafy w=reT
UAFH [aard &
AEANSHT, TR



JhTeTh
AT FIHR
ferer, fasme @ wlaty g=meg

TAFH [aerd &
AAMSH, THRTIR

© ureTHR A [aFE &=

a9 grRfiel qaifaer a9 FwAr g wa g | fafea @it g R ar siftve
W g YT T, IfE T TSI T, Ht gl qrae an s gfatieme W ™
¥ yafaty e TrEag |

TIH YR © 3099 HIA

(*)



HCIKELE

fermdiepr FaTSMor faepraerr @Rt araeds 9= 94, fag 3 afwafa qea ¥ qorar faemaes)
foreqa AT ITSTHH BT | UTSARHb! el BIHT HATad= g TebA1 HIA QIR U
AMglg T Aihrg | TEIAFRAA (qUaa faferse Iged, fawgas, Rrerotasrg fwaream,
Siferer TR, et fafa T Gearesra gfear snferr soa=ear T geg | e frerer faerg
JiRATATs IL¥AYU ¥ TATIRRT FATSAHT ANT RI&Th IETFHAATS Hd AR a7 H1eqH
FATSAILS |

fepTe eI FhaTATs TATERRT FTHATST ITIFT HATEH TUTATD] TART ATATTF T, |
qTEAFHERT [ATGSE IgeT Hebld HTATHT YT WU HUAA TR Tel ®TH] TeaTgeh T HeATgeh
YA Fatedd ¥ ASIHE aAISH ATAvdE g | HeATShd URATArs aedd s T
eI TS FaRTeEreR=or qrferdrer Hecaqul TeanT TATUHT gvg | I qTGAHTR! TEl
ETHT FTATEIT BT T HATGH YhaT A TS, (qaqeira ¥ T g7 qebre A= ATTHTaeT
fafiredeszor arferer fAHTT Tl |

[T qEehl AT AT IETHT JIEd, 0% AR (FAIT TUHT ATATHE RTeAT (e 99
¥ q3) UIIHH, 09 9ifed ¥ 09 G HET 99 AT FHEM AN AUH T | I
TMEAFHAATAR [TTTHT ATET TeaTgeh T AT HET 9 AT TSAITST g ATard fauarep]
faiTedieeor difeeT TaR 9T T TIHT GHIH TRTHT B | T [aRTSEreneor qrferebren!
TANT AICATISIT ATETRAATIAR fg aere faandier AT ave T 9 9% faandisr faers
Sudtes Tt aRaTs Afwalg T FEANT qATIA AL RS ) |

a1 faftTeErereer arferer T AHAT g9 HHr T fawenTa &9ar Rrersd qor s afetad
HRIET FIIE TS TRUST b1 | AR e GUR G ARy Rremessa
PRATAGRT 99 FLATSIA TR FFtead faog AT ¥ FH-=a 91 e AiATTAT S
T FLMT AT AR TR, TH ETH] TR AT &l | T&T AMGTHT T ATETHHebl ATTTHT
AP FHAT 99 AT g9 | Tl oA (RIS b al Hi¥eh F97 T T G
FHTOT TR 9T T IUTET 875, | TFH! (A HRHAT g AT deaiedd &l frer,
TG Heahl ATHANIT AHIg (a0 ATATTRT HETTHTTE® TaH qrei=rd qe Teqtd Teasnd
farehTer dhvg E1fdeR gVaraTs e e | AT H BHT FHART HU AT TAATS Ah GRS
¥ TR FATST qTelg qdTe TAATCHE JERTaeh AT TS |

099, HRTA EIERER R CRIR e

@)



%.9.

fa

ToHeEn
Q. | fafrediet qifeter afe q - ¥
R | % - 94
3. | English 9§ - 33
¥, | qriSe e quT Sfearaant frer ¥ -
Y. |t R - R

Q)




q. fatrieor aiferar (Specification grid) #1 97 =T

Q. i

fererrept TIftear Ieed ARAf T Hewaqul d1aq ITETFHH &l | TETHHABT TATEHNR] FA=aT
g BT ATA RTETeRT UER AWalg g7 daaey | TIEAFHHb Fel EAHT BATaae Tepl AT
TATTET TEITRRIT TG ATHT AT TG FUTeITehT (9T SITHeRT TEhT &7 | T TTSTFHHbT

T PTATATTHT HATGH GO TR T T 873 |
TSI HET (et FEHAT Id FT HUAT Il HIH] AGTS@l T GhAT HATIH al A

HATEHA GlhaTers ATSIATg qAT TATTRRT TAars+ Hewaqul ArgaHed [aiRTeEeReor aifere
qfT ek 27 | RTETT O T FAraehliear Afadig T HeATghd JUITArHT qaR 9 AcaTaea®
&S | HATSHA JUTAHT AR TH TS HE! TFI0 T8 THX HeATSheh qrae [HH0r T
HeATSHT TenaT FoaTad 7 AIRETd &7 | BTHT acTATT ST qenaraT HeaTgehe! A
ST ETHT THEATATS (A5 bl TR FIA AT &7 I0iF AR T TR0
JOFIT (AU 9 AT F B | TSR HHT 9T I g T ISR HBT o [quaaeq JHaX
qTEAFHHIRT (Al HeaTgsh Glehal AIATs HATSHAH] HOTH &GHT GA&TAs TANTAT
e faferedrevor aifeerrel Aeaqul AHET EH &7 | TUET FATAT TS TITTTeeE
IATSH % Uehlg a1 GISATE & THRPl ¢ Hied, & Ieqdehl HedTgehd Tq &l eI

TAR T, TeAHI ASHFAR Hid a0, & geaars Hid 9T IR TH T&1 6w [Fa9r
TR YFIA (THIOT T ATT9TF &7 | BXeh RTeThel TAE] FoaTel T THANE [ FRTEw JHTANT
T TAR IR dATieAeprenrs AR arfes i | a8 o aiferhrar qraasmHe
Ievd, [T, dASHAR, THT ATGATs @A TR % THSATE HET T BidaAldl Ie® qred,
FA T BT ASHB AC, & YAAE Hiq GHT f&d, qeAAr FW, fa9 ¥ I==
AATATE A% ITEE Hedlghd T A&l HeE JHEL TS &g | [dRTEw
ATARTE AT ETAT THAT JIATS AHIIRAT T IR TRIETRHT AT THTHIRERT
TR a1 fAeRTeRr af &7 | e frereer freror wiham Teeter Tt &= fameee,
FALT, FA LI FTIART AT T AT TR I T FTeABTT T, |

fafredrepzar dfeteprel R1erer qar gea fAHTTRATATE TIHIT SATSAT [aUaa T Jurdn
frgor 79 FRTT 799 | T9HT TETHHBT ILYAATAR TREMT T HeATgeh gldtarred Tl
TS | TEETPT TTEHOT, THEIAT ¥ JLATHT ATNT [T arferehlel Wewaqur IiHerT @efehl
&S | THT el G0 987 GHICUR EU6 | TEAHAG TFI0 &=ele Yo [




T Qb T A, AT T AT Tehl TIAe® A TH, J97 Jg&l, GHT T qgHh AR
T TIT HeATgHd T IhATqHAATS (MRl T aal RI&Tuiaedrs IiRdraT TH AaH qiH
N @'

& i fITTerT TTeamAATAR AR qTfdeT ®REHE G AT T Afheg; | &

[T gepfd ¥ WEIATAR I [aRTSEreor qriersrr MR g9 qaee, [|THIaAr [airedreor
drferet frTor et fAefafa weear = T araeas g

@) [EFEe [~ deas FhTS, G¥hTe, TART, [q9au, Hedrgs, Eemr aie qeres
(9) UTSTHIFRT (Alate qrEaever ¥ fauaaeqe! Samashdr
(3) IRIEATHT HITI AR TBR, TeAH] &, TIAR ST, ATHAR T FHT

(F) T AR AT T ARG
(B) [ARTSErRRTT ATARTATARERT THAT AT [THIOT
. TYAYA I RT YERT gH I RaTIRE

FORT (0T &7 TeFelTg A=, a%qid, [99aawia ¥ 99 a¥rse 8% HHT e e
AEATF  §7, | AT WA, a1 T A7 Teehl YeAe AT T Aiv=rd fmardaessr gam
THIee | Y9 (A T&T HT Tehl TYTA] AT [haTI8 TART T9 ITIET &76 A= dTH

ST TN F&T Fal [haTees ITaRUEEEy Y&d MRUH G -

(®) FAM qEH [HAIGe® . T qedl YA [Audasddl A\ds Sie f4gd gar
FAATETFH [FaTIee® Tl go (AT T | S gfedror faq, srer T, afe=re
T, = AR T, AT T, 779 a7, F@rgsd T, Ieoid T, e AT |

(@) ST TEHT RATIGE® @ F T [GUT AAT T, AT a1 T ¥R &79dr a1 faq
T T Tl 9 T 96 | a9 9 Gl JIAAT A3, I@red, S, grad
T, IR T, o feq, qite T4, Sarexr fad, samer T, qor T & fwamae
YART T ge A e |

M) AT TEHT (PATIGER : ST, ST I=o &7l T ATIBTd FHDT JHTETT T (g T
eI YR Teclls Tl dvF q8 AUH &7 | TH TEAT AA A9 T JHAART I
TEAT T HATH TUEAT TRA gATA AT GTAFT (hATIEE® FIATTHAT FIAN TRAILES, |
W afeEde T, ST T, @IS I, AR I, AT T, dIR T, T @rs,




X

THTITE T, (9T T, ® @13, gAle 14, faear T, A T, qae@d T,
AR A&, F=ar T, fayeror T, e T, e T, AArEET T, FAhd T,
e aera, T I anfa |

faftrdiaer aifderet TR

JTAT HATIHA FhATHT IR T qTETAFHHB! HATSHA GharaTey [Tz qriaet
fraTor 7, aRTSERRor aIfaear @R THAT TeATT ITs Tl A1 T+ T daq%ed [R1ed
qar faendiessr 9@l TRt 9 G G T AEeTE g g | TIEAd MR
THT  FARAT qAT (Gprs IAAfT QT AR AT fafersdreRer  arfereerer  fAATT
TR TFI FeTells FHEA TR JeATS TR TR AIATAR TRl T TaH GRIET07 T TS0
T ACATITEF TS TP HETqU JIHFT EH B | A [ATTsdBeo drfereriel TamT

o (e aN C o C o
[THFTATGT BT RT ATRT T b -

()

¥,

Serfores FrorT FATOT T : @¥F wepReRT SreAferes Arsar fAwTr T faRredreneer arfersrer
TEART ATSS, | [aandieed aeegsudied A9 T ATaeqF TATShT AUl Hedl
GTAehl, H{q AR & T I ST &I e AATAH ATSTHATAT e FAed N 3 gal
HATSHAHT ATH AR TAAT AT fATorAT faferedrezor aifererer gamT TS |
SIYHR JAIAH o Tt Ahea gEemEtate deges a1 SeedeTEy
faandieed! [aaesTdicd Tearghd T [GHeH qedded Jede®d! M=d JHR I
TN, ATHAR, 9T AT TJQAT AfE 8a1 eI A0 9 Tl AN T |
9 HATSFAATS THTFAHN] BIH TART T9 TS TESS, |

faerdiesas! fawear safalg T : a9 aifasmT faFEs FHET deeears J9d T4 ¥
BV TEhl [qprgdrs Hiq AR fad 9= &1 Fes AEUH geg | a99 Riefoidesrs
fRATHEATIAT A FeEdTe ATHST HIAH RIS A(HUAT fqamdfier faeear atagig
g 973, | I AABIAT FH, ATe, SATASTSE (99 TAT = F&Tal AIIA T T JIAe®
TedTaR Ao 9 gfehar Ii@ g1 AT 97 T9 ATABIRl TN Fel BIHT TTH
ferandier! farg afvdigH Fednm O S |

foremeft eatge g

foramera qewn faendl Suied HeaTgehaal AT (HHIOTcHe HATSHA Jiehal dAaeved T
faeprs  Quradr @07 fReaR U YEE RAwr @ AuareRs geangsd
YR aTTE Faerved TR faendier fawreer e T7ue |



(F) AARE AR

(3)

AARE  TeATGH [TAMMCHS HATEHAR TIH FF TH9q G | [HHOMHE
HATSHAR] T ¢ [aardiasa! [aehrg TIHT IR T &l | THHT AT fereteher
feramdiert safaaeTa faerg Iualegs ATGRAT 9k ok [Fhrg daaR gard T a+
B | (I Tl [HHIITCHE HeATgehTHT FETT (TS TasiIhLTehl AT AR
foRaTereTd, WepTg URTET, Wt AT SHTGE THEAT AT HeATGh TR ATITETeh]
YART T4 b & | A& HeATgHh AT [qardie dAverd @l (Ferg seaean aferd
T GURTCHE T JTARTHE [FhTgare AR T T4 S8 [qeq & | a9 faewrg
AT AT qUHT faemdierr @i fawa forererer § SUga yfwmar auaTg TeamgsHn
T & |

[ATeH®  qATghdd!  Alqardre  ATT@Ieor T [aUad Iieawm e
AIfPTATAR M= AR AT=ARe HATSHAH TIHT FUATCHS HeATSHTHT AT
e 7 |

gede ATATd qaT Ulegeh (e [qareaed SaRcHs / Tdeliied JeTd TRIGTdH
B | I ATIHT [qUTRT TRTATAR GARTCHSE BT, TRATSTAT BT, ATHRTAH
T, TEAATHI, GIST, TradTad, ATqREd FHHATT, GAhs, AT ANG HI RIS
Alep g | TR FFIeIT [qUIRT TETFHAA ATbATARB TANTCHE AT RIS AT
G |

(@) foraTcHes qearede - ATeAtHE 9@ (e 99 T 9R) 7 MEER HeEreHs gearged
Tl_r:[q%faz

(31)

r"lHiUII('HCh HQW|S;°|’"'|°“¢ PIES "lr('l\l‘IICbl STITHT ﬂlrdr@h HC\VQIS;Cb"ICbI ¥
ATTH /FTET TRAEATRT  ATTSITRT  ATIRAT  AMBURT AR FHET T faqmedien

AT Heargea TR B |

ATARE HATEHAR &GHT [THTHE HATGHAAE I [T TETFHHAT

AIPTATARD! ARBT HeATSHA (MUATCHE HATIHAHT GHTEL TRA G | AT D

HATGeh b BT (IR [afaerar g7 To AU 9iq (Aetafad et g

e faoawr qumEeT g g

o HET TEWINIATH WeaTgHd : (Al fataqar  (Qufeafa) ¥ e
[ ATHATTHT FEATNTCTHT ATHT@RT ATIRAT TRUBT HeATZH |

o AWTHF TALEEHT ASHbT ATRAT I Agh . Ulgell FHGE  ATTIHT

ke




(5)

TSAITSH TUHT fauaaeqare afear JHIEes TIe qoarad T 3 99 qiedr
T ST FHIEE  AIERHT UGS AURT  [qudeedde ™1 AHTge
TR ToATAT A 3 |

o YUNICHE AT GIRATSIAT Hrdhl HedTEHh

o [T YTEIHAAT APTATIREST I ATURES

FET 99 T 9% AT (O TR HHAT AMBTATARDT AR AT e 81 S |
e TS AgIivceh a1 YgIveleh T TANTCHSE 39 g7 T B, | YgTweh T FATITCHE
T HATSHAH FaaTgad AT TR 3 |

YARICHE, Tglivdes 9T A= &Il eaTgehrhl AR, fafy qar amas awaterd

(N

faITeT ITEAHAAT Tl AUATIAR g9 S | YGTwAeh TeTHl HeATSHAH AT
fafredrereor afererr fmtor wife § 1 gt geargdaer @it oy gfqea ¥R
g faugdT 3 wuar ¥ o gfdqerd W g+ fawaEr R guar a9y fHeier i g |
TR fae faerrg Amaedear uH [qandiesdrs del @™ @ [duaeEd 6%
AR fqaTdiesdrs fagd JeAH=T HeRT 997 qdqTs Heargshd T g | faer
ATAYTHAT TR (FATATRT AT GRIEATHT THA 99 T Alep B | (=l qeargs
&l RTeTeRel AATETAT AUHT ¥ A9 g sraedehar AusT fqendieser o
SUTHT g HeATSHA HhaT dATATSTIT G |

ferameierr T¥ MarRw (Grading) #&RTSHA dgidare g4 § |



R AT
ffyrediereur arferepr
H&l 99 (NEP. 001)
%.9. E _ E E g
% E hr % Ev a TEEH
£ | B : |k v
9. |SOTer 7 | afe=ma 9 i 3 | AT e vl 6% fqdel T, 9o, g9 ¥
i JITCAE] % 35 ATIRETS JOH Tled dIaT ITSaTE el e
ATRFH TIA AT=R (45 AT e qudrs el af
TEIEHT T fqqT T, 9O, 9 T JIeEws B 38
TIREATE T Hre
R |Fvita EGEICK] q 9 9 3 |99 gE, WET qx, o (OEA U T 9SdNT /UREAnT UF
TR STRAT BATEl A9 9UH T3el A= a9 T 0@ Mo
qA@d T a3 |
3. |uEE qfe=e |dfesm 9 9 9 R (TS e fag fafw=T 9eaiie 9IR eregel 9ead afe=snd
TH TS | TUHT FFATAT TIAT 958 A a9 fqaeA= U
fae 1
¥, | TEATER q R | ¥ | (H) UreAre Ufead ERATHH UGl AT [4e a9
arezepef TH, TIHT ¥ ANTAFHE F T3 ATIREATE ATTH T3
WT LY p c =
e R afe=nd T ams




(@) FRACT & 45 TRHeTH JANSATIR  TEHH

TR o s

~

AR GANT | TRHTER HRITAT qT=ATaT Griateres /R 9ed TR qUHl AT
fog frsirar wfafues/ wiienfs e dfesme T @
ERE
HTFONCHE 958 T3, @ g3, T TFRI g TART TTH
TSN AT=R (4% T UHHIAT ATHIVICHE 9TeR, F@IH T TFhT
qfg=Te 9 AR FTRAT AN T g
oreg fAtor [dfe=m (@) SUHN T IOF ANR Al HRIHAT FARAE T
SRURCEIN eI ¥ FARACT JeIT A e TUH A% (45
AGAE FeAE] IJTAN Fq ¥ TIAE JAT Fq~
9768 qfg=rd MR (HH Jinar T@rsd avms
(@) HEIET FARACT TH T ARAST fgcd 9Tsa qUH!
AToge fas FFATe Tellal FHE 97 ¥ qealal (§cd
eg qfedE T AT eEdrs faue ¥ fge eregen
TTETRUHT 39T T A
(W) FHEIAT P Al a8 AUFT FT=08 f4
AFeTE AleggFd FRAET 9TeF Yie=r TR Fivg fa=eia
FHA TH ASH
Tt IATRHT [fe=m fIgT, a9, q®9 ¥ ATETHET F TR ATIRATE AR AT
SRR AT ATRIHT AToG3 (95 F Ul ATIRAT UTIT T S
Sevy/fagm,  |dfe=ma (%) FRATST ATHT AU A= (45 Ie9d ¥ (49T a1 3¢

g Rl




foer ¥ M9y faer dfe=sma 9 @RS AT q A
AT ARATET AR AUH A8 45 Ie0d T fae,
A T FaqrE, faemer ¥ faersy, Gee ¥ I AR
Tt et @ 9 s

(@) FArAr TANT TUHT ARATS AT ATo63 (95 ThABHT
aREdd TH S a1 YA AT AYAG FAT WUH

EELELRE

(@) T UTSATE U0 MEdFHH! T faE qeae,
fsepuTcHes, ATATATCHS T FaHalged AR T899 et

(@) AT AT YO TRHFHD AT T TaTaeATehl
Y T, FAARE (9T T3, ATHIIT (TSR[TAII, TIA,
AT TF) FHI=dT U T FARATET agachiedsr Jed
e

0.

>

{IRT9T

AT T UF AR (4% A{o9geard YHE ARHAET Fal
fedre T Tk JAILTHT AR q&T A3

9.

Rt fordt, feee, smaafas o3 gearawarg e, gEen
¥ fqRTIAHEd e Ueh TAT TUTS, STHTHAT, FAH=, sAgTsre,
JHAGATHEAEAE F Tk TN THAT AT Y97 AT TgaT
TITRl IAT Ted A3

)R

gferaen, afe,
fooqofy  qar
EESGIRSECR]

ufireataa

(%) TAaTiea FT=TAT TeAT, THRIE, TWATT THUHS & Th
fawar quo TSR ETHHT UFEr Gideed a1 IHATH{IS
faoaar quo sTeraTHeT fewul 9 arsH

(@) HT TP [T QU0 MeEFFHHT ST, FaIT e AMSH




93. |gfafsrar s@= |gidisharcaes 9 q ¥ | gHITATE FEATET eI USET Y9 T wRiEr 9%
3T TR GFHH] JIAfehar el e s
¥, | 9IS ST e T 3 R | ¥+ |fRuiva wfaar, ®ar, e, Sfeer, Ruae, g9 ©
AT e Y |EATEeEAe @ IS0 AT W fag & A ged | T
IAHF =5 |_ S
TEATIH T AT ACT S
QY. |9TId &g HITHE R q S |91, Hfaar, e ¥ SEdEe [queas], qa9E T
EEfeae TATET YOF Ale T F TIAT TN THIEATHS IR
qET AIT
9%, |eag s@q |TEde T 3 9 S |ATCHIRF T TRAURE STedTehT drarer ofider fag Iwo eresHr
THATS U3l (e e arsH
SHT 30 R Y




THAT 9397

HET : 99 qUITEER @ O}
fawer : atfara Aaretr (NEP. 001) quy : 3 g
Q. ST ATEEH W Ha qUEEH IoARU WM T IUd FaATs AeTaq | €)

ARTHET gt fadgerr 9fe #aey favidy fage | S ametfaamesr faaemr sfafrrm
TR Tfeger fagar faamesr qwa i |
€ T etEd TR €)
T TATS BT T AMAE A T famifaept AT T | aTeiTeRl SHedred dersH
FHAT WdEEA qUTS G FedTe ARTER B |
AT EIEHA UHT TRHN 1A Ifea™ T4 AeTerd | ®
TS Il HATS AR FRTE® AT | I ATkl FRTeweHed @I 8% AR | Fel HHT HT
AT A 9 IR0 g6 | ST AATs RiAaTe aiehl F3l A |
fesua TeTH X RKE | R+R=Y)
(@F) TP ATRRAE T8 TRl qoaH T AN(F ] qhed T e e |
FHIT. Al §¢ TTHl FEYSE, HIR, TMH TETSH &0 TIATE TolRel HIAFT
22T A7, U1 &1 [ I 9 U1 TSl gear ST&dl Ui &el argue |
@) fue TREedE TReRi wEAT AR AT |
feSuaT AT=gEaTe dAsiar qICAe e qiea™ T aTaaAT TR e | ®)

TETIsTvaT STST 54 ASHTHF TPl TR GIIGRT AT &4 TTH S | I FHAMI0ETE

I g aTdaldde®dl TATSH AEslaeE RS AfTa@are 9l I8+ Alhs, |

Fqar
U@l AT=REATE TSl ATHUMCHSF R, TST IUM T TSl TFa( qfga T fawars
FTEHT TANT TR

g1 fgearer el U9 W % 9d qidiars #E H"le GOETEr 9

T FANAAD] TRAAATE ITHT ATAAEE G TEE TT | AhaR] GAATs HAT
TS Tad Tve WeTdl faandfl @ftaael qerel e TWHMT ATRATS 8¢ GAT AR
T (AT FITTEATIhe FYHY 8% Fealsg o |

90



H 5 TIH I RTE | RxR=Y)

(F) ATHRATS TATET ITETN T AT TT Feq 63 qfea T4 faweer fwior
IIRAT FWETE
TG ASTHIOE FTAeEd IRITFHAR g% HAFATS AR Tl aara aad |
T hoed T AT TTEHATIATS 9 Thavq =fe o Hera fad sraar sisd
g1 AETF B |

(@) TR Jeellal 0 8 qlea™ T4 fae e T geeiiar faea st afg=re
T8 RN T FEARTE
FTEAHT ATTHT GIATFEaR ¥ AAHUs ATATHT Foed R T3 MSARINRT FTTH]
THIATHHA ANH B | THAHHAT IFEART T AIHET A A7 @A 419
fa IrilEsd! AT IH SISHFHT HEARISA JUAT g Tehl |

(M) ATERRETE AR qiregF es = T qfvy foreag T
ETHT 9Tl fEWTell |ivad, WTehiae Wawid qRIATcas Hecashl deqe®edl dAaaieh
T fagefll Tiases AT TGS | IE® AUdeER! ATfqen qoprare ed
g% EMdl FER S FIAAD Febra |

fezat geer gAY fegeR ) (%)

(®) feguar srearems g wu et T eifae s e wieda T qRerEa
TR
A T STATHT Haam o | TF FAATATs T ATl AT GRISATAT | HThT 2
WO AT AT T GATSH TS TNl | T I Jelewdd Hiadr are
TR AT AT

@) RSP AR (Has AQ TEIa T g AU THa=aT qiEa T
Rt T
ol MSHT RET AAerg I | 8THN TRIE® T AAoREER! FAT 8¢ 9% T
TT | TS AT GATAehT AT TATAT | SAHT FT AR FRT ATHE® TS X |

® T T I e | (%)

(F) TAHT AT FeATeT e T [ qom qeaiier Ieed o T foer faee o=

e T AeTR
graaTeTelt AT fafea famama Sy | Jergdr ATy GadaHT 9t & e | e
o REPR i (G790 | Frdesd afd Il qH TR |

11



()

AT
e sreaedTs 9l s qAeEd e

I ATHT FeTSHT A5 | & A9 gars | cdeldid dl [eHTde® o urgwg | [oHl

qie [EAT B9 AT |

@) [ESTP ATRATE HOT A HHT T HHT AT AT TG T A8 @
SHE® A TEIF YRl T | Goel hel TRAFe® (s | (gaTeaT Her
qf @IeAT | SHIEEdTg Hid JHTg ATed |

EREN
fESUST AIEEATE T HT YIS T AT T JoAT HIATHT qEa Te I
(1) AATS T35 (&7 I AT ATIE T |
() fefiel Hermg w=IT, ‘BT afe et 17
(%) AT AFTER & FH T G T J97 T |

c

(%) BTHIT ST, “IHE® =S ATSSA |
3T TIHl SaX e | ¥+ ¥ = g)

ST a=gR T TS T el I ACTR I, -

ST Al &Y g | Ihe, AR T I§ Fa &THal I g7 | fes IRiduy
&l a1 Falhl Ul a7 975, ¥ [EATareT arerdr {68 96 | 319, d=d, 19 /1T g
I AT dThed Sl g7 | (9 qrene fAeifervs | a3l Wecdqul =wHehRl
Il AEIATT TR Swae, @I (A, 89N 9¢ EH faeg ey | 3/, a7,
T, A, AT, TR ST [TITHT ATTBHT ART WA FAAT (GGl 3 |
TS BTHT AThETHT famT AfamR SiaeResl FET % TUH & | STASITH gl I
U 9t a1 qargr et Areare A9Ed T80 T8l 9id ¥ Qg 90 91 ST
T AT B | JATT X G fe=rgerr i gfafy somres q-eRt S Atk g,
AT ATRATE B | FaTeTtad fasfaw ater gA | g fawier faeaemg =fea
v SHEE Tded gR Y, d9e THATHT RRIGT a7ed § gtdr 99 | A
HAATATS AeX (999 JITeqarAT aMfdd 9o ad1g &T¥dl JIASaAl J1 & | gl
THT A EHAST a1 AqerdT o fgeder wiivedr faet wereT a@wy |
FATATHT TAGER, HET T JATEREET (o I6aa Faegya TR gdar a0
TS THG |

1R



EERELS

(®) HHIETs Aecadol SR [ AR 2l 7

(@) SAGT T ISRl &= oA faepr ey T Al 7
(@) gdTATs AT TATSH MMARE® & & g 7

(&) ¥rog TR (=gt w&dl e g Bl 7

@) fEuar ITeeR Tdl DTS TeTH IR AETE Y

(<P)

()

()

()

9o.

HABHAT TEH SRIGVIR TAH AAAEE HH fadadls Irilewed Jradr, 99 qar g&rar
gt T AF9d TSITHT fEATETS | ATl et A5t ISRl ARTET
@A el G | [aTael F7geh THIAT AATHHT AT THE® HiY, AN, SATIR

ST STTEEHT qhRIcHE AT G¢h! HARITHT THA T3RTF AR ey aar
AT YT 387 FMHER Q.4 Fiqerd, ¥ Yiaerd sgaer T 0y Y gfqerd o3er Saetih
fasfor g1 SaTerel F@ETe 90 A1 fam Afepeeedt ST | TSl FIHIRET HET T
®IAT FAR, AATGAT, TESA, ATSAT RFTT, FIh 3R AT ¥ FHaAd Wbl B |

3T SRR FaehTaert STEIpTelie AT 2Tee | AT BT &bl AT PR TaH
FATATEO, JAM &AHT [ ¥ fqear qar fafad @RISR a9y faeqararhd

SATEATHE TR ASTRIHT A= T T&T TAH [qIgeh SR eTS | ASRTeh AT
qfe=Terd T4 AT ASIEraTs QR Fatfad ¥ sateqd T q9rer Aifder faemrasr
IR ASEMEEATE AfTbaH o1 fae afebesg |

forgeror ereReh! e %A &l ¢
(1) eI () qoda (Z) TSI (%) HATERTHT

IR ATTART AT TEE® & o g ?

(37) TR ¥ STSET (3 AT ¥ Riew (%) @ T AR (%) & T 4Rt
ferepTarep! SrelehTe A1 & &l 7

(1) IEfTeR TSR () WRIET A () FITRT ATARERT () AT TR
TITAT FTHIR BT HET T h] TIH] HAR, HATGAT, TS, ATIal AAGAT, Fqh 3RA
SHYEH T Fod el e | A ATdIHT Teqed’ &l 9k & 2l 7

(1) SYT AT~ (31 T IT e (3) THE TR (%) fga o=

ATTSIATS AT SaT fedt T aiem™T qRier e | (R+R = ¥)
BTHT FHIST HA T AHd HEBIRl [HHU BT | 8THT TS 9T GETAT Y= TR dR18?

13



1.

IR

13

9%.

()

TATT B | ATbdl, =ATHIH, =TS T a1 ATTH] THISH HA ggobell, RSN T HIGATHI
fad TASY | ISST ¥ U JRNTeed ATHT ATeR AT ST B | ATwal, Srel, eTH
T q=eeg qUeE eTHl HEH Ghgh! ol S | T T b qcd, M T dTa=H B8l
W qEIET B | el ¥ faeirer giaan, gerel ¥ ORI (6ol args | e, I,
I, AN T AT LTSl Aivad a9l T | aTel dTsal, faarser, arg &l e
fae® qASiTadedl A9 T8 S | T7d, T4, @ISl ¥ MATEE FAThEA Alad S |
Tl ATl TUER B | GEBR, ATARATS ¥ TRFRTHT TREEE g9l MSHT o, TeTHT
THTSEA | GT9TA T Gl =T AT, &Hd T o1 [diaegar & | 7l [9er, AfT,

TSITER, EERT, 919 ¥ ANTATHe® a9l ATRATHl &5 g | &THI WTHT, &H, qLhq T
TRERTHT 98 & a¥ ATIGAT qfew) g | A F faeawr a6 o d9fe=n 2 o
F TF TP IO e | (¥)

(F) TIHT @R bracd GAAERI AAATATS BRIAT AT [a8gHhl @ TMSH S
T TS FAATH! THAT TR IHEI |

(@) FIpT 9 [TATEH HTARHT AThrIATeTdTE AT T G5 [HHe0 T
THAT TR TR |

% T FITehl A e | (%)

() AT T arfiercaasr gedar amfag fafag sewaarg g@d quo

TR FA®] Fladaad el |

(@) ITSETTATTHT qANTRRST AT [qUIAT L0 TEAFH FR]al qIR el |
Higar i g fEaers e fae=or 19 afeuar ? QY TeEEFET ATEAT St
deTe | (¥)
F GE TP IAT AETE | (¥ +¥ =g)
feSUHT Haqier TE FRATH TS IO e

% UETSd %A @l [q|r q s&ar ¥

AR q@Tl | A AT [THT AT AHAT T
TP W AT [THT B ATHIT e Gl

qREel T T | GETE ARTE S[eA el |

EER Q)

() AUTATE®H] BT GREA TATAHB] THAT ATRT BT 7

9%



(A1) ETHT FRI@IPT TR TATATS BacTepl ATLRAT T TR |
(@) TP AT T ATHT T GaT I R

foeF STVIAT ST | geaTeepl @ ¥ RTETHT ANT 97 | i @it ar el HR1 GRIATE
fage | SEET T SR TETSHT ACHT HIT T | JHT AT BT FI G IR Fleed ATa@r
TR | F el AT, & AT, & @A A% @ TRA | § T @i 90 FG9d, 956 ATG A
Treyd TRE | I WRT Wi & faged av & T 9 dfecishe qoaae faer Tgassr @,
T TS Bt AT e SR |

FERFIa

() TF ATTATLTHT THTA ATRAT & HEAT BHAART Teehl [ABRHT T ?
(A1) TF ATCATITHT HaT THET HAL FTHETT T F(hTAT ?

(M) fegus FMarui gd QiTE 7eae IO e

fergeH gftael =X TaT ¥ g0l qedT U3ar =) &, [ &1 | g8l 5o, T, qrY, ATH1eT T o (
gehTeT) A T qT (TeEded) # [FF FoER, WAER, A9ER T Fd AT ATRAT SaH
faTSesm | TS GISY a7 YeHT SaTcHTs dfedea SiaUel S | & eTHl Jeidl T8l
qi=ATS, Tel TS | AT (e o S 313 & | TR aikieatas gumetensg fadifafa
T &1 ATTcd TghaAT T8 | BTl (G AT Ferarq Tead=e! [uadr a9 TR aaved
YU FRY T TdE ATANT G ATl AT (ouy faery fovar T =& amwr am

drduet B |

JYEE
(31) AT FEA TPl ATHRT T AR, 7
(3T) TRl AT FHHAATS Add & T Fieheeg, ?
. T TF AR IR &R | ()
(&) FATES T FAAHAS FATSTH] TATTATH] ARTHAIT [qURT ANTETART == Tl |
(@) SMSE AT FATAT FEAT AT [0 TRUHT S, THIEATHE IO ACTR4 |
& fosuE 7o B 0@ ofienT U0 TREEHAT THeE e deTRE | )
(%) SOATTH] STAGTAR] FFATAT

(@) a1 T WA
() FRT I ;W FHAMN

94



3. Compulsory English
ENG. 003 (Grade XI), Eng. 004 (Grade XII)

Test Specification Chart for External Evaluation
Reading (35 marks)
1. Reading Comprehension Test (15 marks)

One unseen prose text of about 600 words like; book/film reviews, news reports and articles,

stories, reports, letters or emails, essays, biographies/auto-biographies, product guides, blogs,

brochures, travelogues/memoire etc. followed by comprehension questions targeting the

testing of the following skills involved in reading, will be given together with the

comprehension questions:

e understanding general content of paragraphs or sections

e identifying and understanding specific information in the passage

e scanning and understanding information

e understanding the opinions of the writer

e understanding words in context

e identifying aims of a passage

e understanding details and order of information

a.  Number of test items: 15

b.  Types of test items: any three of: Multiple Choice, True/False/Not Given, Sentence
Completion, Matching, Ordering, Summary Completion and Short Answer Questions.
One type of question should test the vocabulary in context.

c. The questions should have the mixture of different types of comprehension: literal
comprehension, reorganization, inference and evaluation.

2. Text Based Questions (20 marks)

This section contains seven text based questions from literature section. This follows the

following chart:

Types of questions
Genres - .
Short answer questions Long answer questions
Short stories
Poems 5 2

Essays

One act plays
Total Short Answer Questions = 5x2 = 10

Long Answer Questions = 2x5 =10
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Short and long answer questions should cover the following skills:
a. comprehending

narrating

summarizing

writing character sketch

paraphrasing

writing theme/central idea of the text

comparing and contrasting

A I

making judgment (e.g. title justification)

o

arguing
analysing and interpreting

explaining with reference to context

= & T

literary interpretation

m. critical appreciation
Writing (25 marks)

Three writing tasks will be given:

1. Task 1 (7 marks)
Any one of: paragraph writing, summary writing, interpreting graphic text, news story
writing, note taking, and skeleton stories.
Word limit: 150 words.

2. Task 2 (8 marks)
Any one of: personal letter, job application letter, letter to the editor, business letter,
emails, writing a CV.
Word limit: 180 words.

3. Task 3 (10 marks)
Any one of: essay, travelogue/memoir, book/film review, biography, diary entry,
communique and press release.
Word limit: 300 words.

Grammar and vocabulary (15 marks)

1. Grammar (10x1=10 marks)

The test item on grammar will cover the following contents.

a. Adjectives and adverbs

b.  Concord/subject verb agreement
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2.

Prepositions

Modal auxiliaries
Tense and aspect
Infinitives and gerunds

Conjunctions

=R B S

Relative clause

Voice

. [y

j.  Reported speech
Vocabulary: (5x1= 5 marks)

This section covers the following contents.

a.
b.

Sound system of English: consonants and vowels

Vocabulary study

- Stem/root - Suffixes

- Prefixes - Derivation

- Inflexion - Synonyms/antonyms
- Parts of speech - Idioms and phrases

- Nouns-number - Verb conjugation

- Spelling - Punctuation

Dictionary use
Idioms and phrasal verbs
(Note: Sound System of English will be tested in grade 12 only)
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Compulsory English

(ENG. 003)
Grade XI
(Model Question)
Full Marks: 75 Time: 3 hours
1. Read the text and do the tasks. 15

Mt Everest grows by nearly a metre to new height

The world's highest mountain Mount Everest is 0.86m higher than had been previously
officially calculated, Nepal and China have jointly announced. Until now the countries
differed over whether to add the snow cap on top. The new height is §,848.86m (29,032 ft).
China's previous official measurement of 8,844.43m had put the mountain nearly four metres
lower than Nepal's. Everest Officials at Nepal's foreign ministry and department of survey
said surveyors from both countries had co-ordinated to agree on the new height. The
agreement to jointly announce the new measurement of the Earth's highest point was made
during Chinese President Xi Jinping's visit to the Nepalese capital, Kathmandu last year.

Chinese authorities had said previously Mount Everest should be measured to its rock height,
while Nepalese authorities argued the snow on top of the summit should be included. The
Chinese surveyors had calculated their figure after they measured the mountain in 2005.
Nepal's government officials told the BBC in 2012 that they were under pressure from China
to accept the Chinese height and therefore they had decided to go for a fresh measurement to
"set the record straight once and for all". The 8,848m height, Nepal had been using for Mount
Everest was determined by the Survey of India in 1954, but for the first time the country has
now conducted its own measurement of the summit. Four Nepalese land surveyors spent two
years training for the mission, before heading to the summit. "Before this, we had never done
the measurement ourselves," Damodar Dhakal, spokesman at Nepal's department of survey,
told the BBC. "Now that we have a young, technical team [who could also go to the Everest
summit], we could do it on our own," Mr. Dhakal said. Nepal's lead surveyor Khimlal Gautam
lost his toe due to frostbite while on the summit to install height-measuring equipment last
year. "For summiteers, scaling the highest peak means a great accomplishment. For us, it was
just the beginning," Mr. Gautam had told BBC Nepali after his return. "Unlike other surveys
of the Everest in the past, we chose 03:00 to minimise errors that could have been caused
because of sunlight in the day time."

Some geologists have suggested a major earthquake in 2015 may have had an impact on
Mount Everest's height. The 7.8 magnitude earthquake killed nearly 9,000 people in Nepal,
and caused an avalanche which buried parts of the base camp at the mountain. At least 18
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climbers were killed. Some geologists said the earthquake may have caused Everest's snow
cap to shrink. Scientists had found that some other Himalayan peaks such as Langtang Himal,
mostly to the north of Kathmandu and close to the epicentre, had reduced in height by
approximately a metre after the earthquake. Others have argued that Mount Everest, like other
Himalayan peaks, may have actually grown over time because of the shifting tectonic plates
it sits on. But experts say major earthquakes can result in that process being reversed. "The
2015 earthquake is also a major reason why we re-measured the mountain," said Mr. Dhakal.

A. Choose the best answer. (5X1=5)
a. The word 'announce' in the 7™ line means:

1. utter words to convey information.
ii.  make a formal statement about a fact.
iil. communicate information to someone.

b.  The word 'fresh' in the phrase 'fresh measurement' in the second paragraph means:
1. having its original qualities unimpaired.
ii.  not frozen, tinned or otherwise preserved.
iii. not previously done, new or different.

c.  The word 'accomplishment' in the 22" line means:
i.  the omission of expected action.
ii.  an act or instance of falling.
iii. something that has been achieved successfully.

d. The word 'shrink' in the 29" line is opposite in meaning to:
1.  expand.
il.  contract.
iii.  reduce.

e. The word ‘approximately’ in line 30 line means:
1. exactly.
il.  nearly.
iil.  precisely.

B. Complete the following sentences in NOT MORE THAN FOUR WORDS. (5x1=5)

a. Nepal and China previously had different views about adding the ........................
to the height of Mt. Everest.

b.  Surveyors from both Nepal and China had worked together to come up with the
same view on the ...........ccccceeeee. of Mt. Everest.
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c. China's earlier official measurement of 8844.43m was based on the measurement

d. The team leader of Nepal's surveyors lost his toe during the installment

0) NSRS on the top.

e. Some geologists also had their view that the change in ....................... under Mt.

Everest may have increased its height.
Answer the following questions. (5x1=5)

a.  What did the surveyors from both Nepal and China agree on to come up with about
Mt. Everest?

b. Why did both countries determine to carry out the new measurement of Mt.

Everest?

c.  Which sentence in the text indicates that it was the first time for Nepal to measure
the height of Mt. Everest?

d.  Why did the Nepali team take 3:00 as a reference in measuring the summit?
e.  What covered the parts of the base camp at the mountains during 2015 earthquake?
Write short answers to the following questions. (5%2=10
a.  Why is the speaker saying that 'the children are the most beautiful flowers of all'?
(The Sdfish Giant)
b.  What were the circumstances that led to Aksionov's imprisonment?
(God Sees the Truth)
c.  What is the speaker's attitude toward war?
(The Gift in War Time)
d.  What do you think is the main idea of the essay 'What is Poverty?'? Is the main
idea of the essay explicit or implicit?
e. Why are Don Gonzalo and Laura annoyed with each other?
(A Sunny Morning)
Write long answers to the following questions. (2x5=10)

a. Jobs contends that you need to love what you do in order to be great at it. Do you
agree or disagree? Why? (How to Live Before You Die)

b.  Write the summary of the poem 'All the World's a Stage'.

The following bar graph shows the total cases of COVID-19 infection in Nepal from
2020-01-01 to 2021-01-20. Write an interpretation of it in about 150 words. 7

9



Number of Cases

80000
70000
60000
50000
40000
30000
20000
10000

0

I Toizal Male Infected Data Total Female Infected Data

0-10 11-20 21-30 3 -50 51-60 61-70 71-80 80+

Age Group

Suppose you are the coordinator of the organizing committee for the 'Sports Week'

at your school. Write an email inviting the other members of the committee for its

first meeting. 8

Is the use of smartphones useful for the students of secondary level? Write an essay

discussing the advantages and disadvantages of smartphones in about 300 words.

10

Do as indicated in brackets and rewrite the sentences. (10x1=10)

The good boy behaved well. (Underline the adverb in the sentence)

Many of the houses in this neighbourhood (don't/doesn't) have garages. (Choose
one form from the bracket to complete the sentence)

We insist ............. punctuality in this office. (Put the correct preposition in the
blank)
It e be Anton's car. I saw him driving the car yesterday. (Put the correct

modal in the blank to complete the sentence)

She ............. (write) three books and she is working on another one. (Put the verb
from the bracket in correct tense to make a meaningful sentence)

I need to stop (doing/to do) my homework late at night. I keep making terrible
mistakes. (Choose one form from the bracket to compl ete the sentence)

The minister stood still ............. the request to take her seat. (Put the correct
conjunction in the blank to compl ete the sentence)

Marie Curie is the woman. She discovered radium. (Join the sentences with a
relative pronoun)
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i.  She said, "Would you like me to help you?" (Usethereporting verb offer to change
the sentence into indirect speech)

j. I'hate people laughing at me. (Change into passive)
Do as instructed. (5x1=5)

a. The art of producing beautiful writing with a special pen or brush is called
calligraphy. What word class does the underlined word in the sentence belong to?

b.  Arrange the following words as per the order in a dictionary:
chanting, chopper, chirruping, chivalry, chancellor

c.  What does the sentence 'He burnt his fingers by interfering in his neighbour's
affair.' mean?
i.  He got himself into trouble.
ii.  He burnt himself?
iii. He got himself insulted.
iv.  He got rebuked.
d.  What does the prefix 'under-' in the word UNDERESTIMATE mean?
1.  below
ii. in
iii.  around
iv. above
e.  Which of the following sentences is correct?
1.  Kelsey said I want to go to Aunt Joy's for Thanksgiving.
ii.  Kelsey said, "1 want to go to Aunt Joys for Thanksgiving."
iii.  Kelsey said, "I want to go to Aunt Joy's for Thanksgiving."
iv.  Kelsey said "I want to go to Aunt Joys for Thanksgiving."
The End!
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Y. T
Specification Grid, 2077
Grade: 11 Subject: Mathematics (Mat. 007)
SN |Content Area Worki Competency level Areawis | Number
ne Knowledge Understanding Application Higher Ability e Marks | of
hour Questions
(16%) (24%) (40%) (20%)
3¢ o 3¢ o o ¢ o <o o o =t
o <« < < < < < < < < <
= n = %) - = %) ) = ) )
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S| 5| S| 5| S| &| S| &E| | 5| | 5| S|&|s| 8| s|5|s|&|s|&
C N - N < e 2 = B = 2 = B = 2 = B R -
1 MCQ: 2
Algebra 31 20 SAQ: 2
LAQ: 1
2 | Trigonometry 8 5
MCQ: 4
3 | Analytic
13 8 SAQ: 1
Geometry 2 2 (2|10|S5 |51 }S5S|1 (8|22 4218|221 |5]1]S38
LAQ: 1
4 |Vector 7 4
5 |Statistics & 9 6 MCQ: 1
Probability SAQ: 1
6 MCQ: 2
Calculus 31 20
SAQ: 2
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LAQ: 1

Computational 10 6 MCQ: 1
methods SAQ: 1
Mechanics or
Mathematics for 1 6 MCQ: 1
Economics and SAQ: 1
Finance
MCQ: 11
Total Marks 120 12 18 30 15 75 SAQ: 8
LAQ: 3
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Question format plan
Number of questions
S.N Types of M;::(s Hich Total Total
e Questions X . o igher ota
question | Knowledge | Understanding | Application Ability numb.er of Marks
questions
Multiple
1. |Choice 1 2 5 2 2 11 11
Question
Short
2. |Answer 5 2 1 4 1 8 40
Question
Long
3. |Answer 8 0 1 1 1 3 24
Question
Grand Total 4 7 7 4 22 75
Note:
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Questions should be made by addressing all the sub-areas of content.

Application and higher ability guestions can be made by relating the other content areas.

Appropriate extra time will be provided for the handicapped students and the alternative
guestions to the figure based questions should be prepared for blind students.

Questions should be prepared by giving the context and one question may have more than one
sub-questions.

At least one multiple choice guestion should be asked from each area (Trigonometry, Analytic
geometry and Vector).




Model question — 2077
Grade: 11

Full marks: 75 Time : 3 hours
Attempt all the questions

Group A 1 x11=11)

Rewrite the correct option in your answer sheet

1. Which of the following is a statement?

(a) The fishes are beautiful (b) Study mathematics.
(c) x is a capital of country y. (d) Water is essential for health.
2. The value of : V=16 \/__25is
(a) -20 (b) -20i (c) 20i (d) 20
3. If ZC=60%b=5cmanda=4cm of AABC, what is the value of ¢?
(a) 3.58 cm (b) 4.58 cm (c)4.89 cm (d)4.56

4. Inatriangle ABC, B =120° a =1, ¢ = 1 then the other angles and sides are
(a) 35, 45, V2 (b) 10, 50, /3 (c) 20, 40,2 (d) 30, 30, v/3

5. The cosine of the angle between the vectors d = — 2] + 3k and b =T + 3] + 3k is
1

(a) 14 (b) 14 () V14 (d) 196
6. The equation of parabola with the vertex at the origin and the directrix y - 2 =0 is..
@x*-8y=0 (b)y’+8y=0  (c)x*+8y=0 (d)y*-8y=0

7. A mathematical problem is given to three students Sumit, Sujan and Rakesh whose

chance of solving it are %, %and érespectively. The probability that the problem is

solved is% ? The possible values of a are

9 1 1
(a) 2 (b) 4 (c) 4 (d) 8
. Sinf .
8. lgl_r)r(l)TlS equal to
0
(@0 (b) o (©)1 (d o
2
9. The derivatives of 4X2 +3 is....
3x° =2

El



—34x —-32X

W w2 T e
10. By Newton’s Raphson, the positive root of x> -18 = 0 in (2, 3) is
(a) 2. 666 (b) 2.621 () 2.620 (d) 2.622
11. Two forces acting at an angle of 45° have a resultant equal to V10N, if one of the forces
be V2N , what is the other force.
(a) IN (b) 2N (c) 3N (d) 4N
OR
The total cost function of a producer is given as C = 500 + 30Q + %Qz .What is the
marginal cost (MC) at Q=4 is
(a) Rs.38 (b) Rs.34 (c) Rs.30 (d) Rs.28
Group B (5 x 8=40)
12. A function f (x) = x? is given. Answer the following question for the function f(x).
(1) What is the algebraic nature of the function?
(i1)) Write the name of the locus of the curve.
(i11) Write the vertex of the function.
(iv) Write any one property for sketching the curve.
(v)  Write the domain of the function.
13. Compare the sum of n terms of the series: 1 + 2a +3a? +4a° +.......... and at+ 2a + 3a+
4a ...up to n terms.
14. a) In any triangle, prove that: (b + ¢) Sin 4/ ,=a Sin(g + B) 3)
b) Express 7 = (4, 7) as the linear combination of d@= (5, - 4) and b= (-2, 5) (2)
15. Calculate the appropriate measure of Skewness for the data below.
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
No of workers | 10 12 25 35 40 50
16. Define different types of discontinuity of a function. Also write the condition for

increasing, decreasing and concavity of function. (2+3)

B



17.

18.

19.

x> dx

Evaluate: I—
va’ - x’
¢ dx
Define Trapezoidal rule. Evaluate using Trapezoidal rule for I Tox n=4.
+
0
State sine law and use it to prove Lami’s theorem.

OR

A decline in the price of good X by Rs. 5 causes an increase in its demand by 20 units to 50
units. The new price is X is 15.
(1) Calculate elasticity of demand.

(i) The elasticity of demand is negative, what does it mean?

Group — C 8x3=24)

20.

21.

22.

(a) The factor of expression ®*-1 are -1 and ®> + ® +1. [f ®*-1 =0

(1) Find the possible values of ® and write the real and imaginary roots of .  (2)

1 w” wZn
(1) Prove that: |w?"* 1 o™ | = 0. Where n is positive integer. 4)
w"  w™ 1
(b) Verify that: [x+y|<|X+|y| withx=2andy=-3 (2)

(a) The single equation of pair of lines is 2x* +3xy +y? +5x +2y -3 =0
(i) Find the equation of pair straight lines represented by the single equation.  (4)

(11) Are the pair of lines represented by the given equation passes through origin? Write

with reason. (1)

(i11)) Find the point of intersection of the pair of lines. (2)

(b) If three vectors d, b and ¢ are mutually perpendicular unit vectors in space then write a
relation between them. (1)

(1) Distinguish between derivative and anti-derivative of a function. Write their
physical meanings and illustrate with example in your context. Find, the

differential coefficient of logSinx with respect to x. (1+2+2)
(ii) Find the area bounded by the y — axis, the curve x> =4 (y - 2) and the line y = 11.
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